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@) ht)=-49 +196 i) = -4.9¢ +19.61
(€) h()=49r +19.6 (dy M) =49 +19.6¢
h(t 9'8t2+19 6t +
() = — | (f) = = —— : (
Wn=-98, W (0=196 19,6 = 0 4 ¢; b, = 19,6 () s :
Witydt=|-9.8dt , h(0)=19.6 - h/(t) = -9, .
| . OO )= 4902 +19.60)4c, , h(0)=0

W(t)=-98t+c, [h/(t)dt=[(-9.8t+19.6)dt 0= 0+ ) s = 0
h/(0) = —9.8(0) + c; < h(t) = -4.9¢2 + 196t
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@ hi)=-49 +98 by Mi)=-49 +98

() h(t)=-49 + 4%]31 @ ) =-49 +49

C=Vy =Vg.5in0 y=-49t*+49t+¢ -¢c=0

1
v, = 9asing =98.2 =49 y=—4.9t" + 49t
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x() =493 1 (by x(1)=49J3

(€) x(r)=491¢ (d)y xM0)=-49 +49¢

x/7(t) = 0 s— [x//dt= [Odt—»x/(t) =g

3
v, = vy.cosf = 98.cos(30) = 98 (%) = 49+/3

x/(t) = 493
x(t) = 493t
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(a) 2 4
() 3 (dy 6 0 = gl V) Jaad
m
y//(t)=—9.88—2->y/=-9.8t+c y/=-9.3t+49m' _49¢2119 6t = 0

c=ty=7).5in A=) T e

-4.9 + 19.6 =0

T 1
v, = 9Bsin—=98.- = 49 y=-49 440t
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